after

D:m.? “1{ Ih‘ﬂ 2ot on s

hropen

nevt,iwork: 1 1

dec:i,input word:

dec:i,input word:

T
34 48
42 4z

newvi,
nevi:
37 36
3z 3z
neve,
rnewt :
29 2%

28 28
' newvt,
nevt :
30 29
33 33

nevt,
newvt:
37 38
4% 44
nevt,
newvt :
4% 50
54 54
newvt,
nevye:
57 58
58 59

newvt,
newt s

l.=f=afi.ng at byte:
47 47 47 46 46 46 45 45
41 41 431 41 40 40 40 39
iwork: 2 1

2 starting at byte:
36 36 36 35 35 35 34 34
32 31 30 31 31 31 30 30
iwork: 31

3 starting at byte:
29 29 25 28 ZE 28 28 28

28 28 28 28 28 28 28 24
iwork: 4 1 Lo

4 starting at byte:
20 30 30 30 30 30 30 31
33 23 33 34 34 34 35 35
iwork: 5 1

5 starting at byte:
38 38 3% 3% 29 40 40 40
44 44 45 45 45 45 46 46
iwork: 6 1

& starting at byte:
S0 50 50 51 51 51 51 51
55 55 55 55 55 56 56 56
iwork: T 1

7 starting at byte:
58 58 58 58 5% S5E 59 5%
5% 5% 5% 59 59 59 59 58
iwork: g 1

B starting at byte:

=55 59 52 S5E 58 SE 5B 58 58 5B

%€ 586
newvwt,
newvi:
51 51
46 4¢
newvt,
nevt :
40 40
35 35
nevit,
neve:
30 30
29 28
nevt,
nevt:
28 28
31 30
nevt,
newvt:
34 35
39 40
nevt,
newvt :
45 45
21 51
nevt,
nevt:
55 56
59 59

56 55 55 55 55 54 54 54
iwork: 9 1

2 starting at byte:
51 51 51 50 50 50 49 449
45 43 453 45 44 44 44 43
iwork: 10 1

10 starting at byte:
40 3% 39 39 3% 38 38 328
34 34 33 34 34 33 33 33
iwork: 11 1

11 starting at byte:
30 30 30 30 30 30 20 Z=
29 28 28 28 28 28 Z8 ZB
iwork: 12 1

12 starting at byte:
28 28 29 29 Z5 29 ZB 29
31 231 31 21 31 31 32 32
iwork: 13 1

13 starting at byte:
35 35 35 36 36 26 36 37
40 40 41 41 41 41 42 42
iwork: 14 1

14 starting at byte:
46 46 46 47 47 47 47 48
52 52 52 52 53 53 53 53
iwork: 15 1

15 starting at byte:
56 56 57 56 57 57 57 57
59 5% 5% 59 59 5% 5% 5%

1 12322 outpuuts:
now hex: i,input word: 3022 output
2 12079 ocutpuuts:
now hex: i,input word: 2F2F output

Q
45 45
3% 39

40
34 34
30 30

80
28 28
29 29

120
31 31
35 35

Taen
41 41
46 47

200
52 52
56 56

290
58 59
59 58

2810
57 57
54 54

320
49 49
43 43

360
37 37
33 32

400
29 29
28 28

440
29 29
32 32

4B
37 37
42 43

520"
48 48
54 53

Sel
57 57
5% 59

34 48

word:

47 47

44
38

28
29

31
36

41
47

48
42

37
32

28
29

29
33

37
42

449
54

a7
o9

word:

44
3g8

33
30

28
29

31
36

41
a7

48
42

37
32

29
28

29"

33

37

43

49
54

27

5%

44
38

32
36

42
47

53
57

a8
59

37
53

48
42

36
32

29
28

30
az

38
43

49
54

SE
59

22 30

2F 2F

43
38

33
29

28
23

32
36

42
43

53
57

3=
59

57
33

48
42

36
32

29
28

30
33

38
44

50
54

S8
59

43
38

23
29

28
29

37

42
45

53
57

57

33

47
41

36
32

29
28

30
33

3B
44

50
35

58
=10

43
37

32
29

28
29

iz
37

4z
48

5o
59

56
52

47
471

36
31

29
28

30
34

39
44

=0
25

58
59

43
37

32
29

28
29

33
37

43
43

54
57

59

59

56
52

47
41

35
31

29
28

30
34

39
45

S0
35

5B
5%

42

37

32
29

28
29

33
37

Wy

43
aa b

46
4l

35

31

28
28

30
34

39
45

51
55

S8
59

-fah]J, 1%



